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f 1. Which statement is not true?

@ ¥ (1) All squares are rectangles. (/35All parallelograms ar‘e@

v(2) All rectangles are parallelograms. v (4) All parallelograms are quadrilaterals.

r 2. Which statement is always true?

1) A square is a ;ééféngle. (3) A rectangle is a rhombus.
(4) A trapezoid is a parallelogram.

%(2) A parallelogram is a square.

(Hat . WhJCh statement is always true?

(1) All thombus’ are squares.

; 3) All thombus’ are trape 70ids
‘All thombus’ are rectangles. '

(4) All thombus” are paralle
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® All Parallelogram properties
o ® All sides are =

Lt ® Diagonals are ol

® Diagonals bisect the angles

® All parallelogram properties
= ® All rectangle properties
® All rhombus properties

4, Which property is not true for all parallelograms?

(1) Opposite angles are congruent.  (3) Consecutlve angles are supplementary.

(2) Opposite sides are congruent. ( (4) Dlagonals are congrue@

o

he afgompan}’lng diagram of parallelogram ABCD, diagonals AC and BD in o8
x-40,and ED= x-10. What is the value of x? \3\ asonals Qs;
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lsofa i‘&:mbus have lengths of 12 centimeters and 16 cent
Fone smle of the thombus? {\ (¢, %OAQ\S ol ol WS}-\
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’94 ‘i%e diagram below shows parallelogram LMNO with diagonal AC, m<M =118°, and
- mXLNO=22°. Explain why mxNLO is 40 degrees.
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site sides are parallel
Z’non?;:rzla;:ligff ?LEGS) are congruent e The base angles are congruent

e The diagonals are congruent

=

e ONLY one pair of opposite side are parallel
~® One of the legs is perpendicular to the bases
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10.In isosceles trapezoid ABCD, BC//AD . If m/ A 4x+20 and msD = 2x +30, find the
measures of all four angles. Ty =.C € T Qe TON ﬂ
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" 3. The diagonals of a thombus are 6 and 4. What is the measure of each side?

v

N r',“g \

4. In thombus 4BCD, AB=2x-2 and BC =x + 8. Fmd the perimeter of the rhombus.
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3. In the quadrilateral below, mx4=3x+9, mxtB=5x+20, m£C =3x ‘a:r.rd‘msz 2x+6. |
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5 1. Given parallelogram DANE and 1sosce1es tr1angle BEN. mZENB=44° and AC is an A\{ v ¥

altitude. Find mZDAC. —\-{\\aﬂ%\\g nNos  \gOo~ -
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12. The measure of one angle ofa quadrilateral is 3more than the smallest; the third angle is
5 less than 8 times the smallest; and the fourth angle is 2 more than 8 times the smallest.

Find the measures of all four angles of the quadrilateral.
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Which information is 7ot enough to prove ABCD is a parallelogram?

1) 45~ and 15|56 ¥
(© 2 B=Cband70=1a
|

AB= CD and BC || AD
. 4) 4B||DC and B¢ || 4D

15.In the diagram below, ABCD is a parallelogram, 45 is extended through B to E, and CE is
drawn.
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